Without Target Running with Slope Speed-change (PLSV)
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+ Action description

X10 |4 - sStart  X12 |1 - Speed-change ~ X14 |{| - Speed-change ~ X16 |{| - Stop
¢+ Program
M8002
—| I [CALL P10 ] call subroutine, set parameter
"1 (RST  M8132 ] With slope flag
MOV KO D102 ] Without target running
{MOV KO D104 ] Don't Care
M8002
| [ZRST M100  M199 ]
X010
—¥ | [SET M100 ] Start
{DMOV K10000 D100 ] Speed setting, 10Kpps
M100
| “2pPLSV D100 Y000 Y002 ] Speed-change Instruction
M8029
| | [RST M100 ] can omit
[RST M8029 ] can omit
X012
v [DMOV  K25000 D100 ] Speed change to 25Kpps
X014
—\ [DMOV  K75000 D100 ] Speed change to 75Kpps
X016
W [RST M100 ] Stop
[ FEND ]
M8000
P10 | [MOV K100 D8168 ] YO bias speed
MOV K1000 D8164 ] YOacceleration/deceleration ime
{DMOV K100000 D8156 ] Maximum speed register
[ SRET ]
[END ]
Note:

*1: M8132=0 With slope running(as Diagram |), M8132=1 Without slope running (as Diagram II)

*2: The system of this example occupy D100, D102, D104, can't be other purpose.



